g2 247
Ha: OhFS YK PH(DDIMLOH /LT - 2=
el S Azys (S92 e)
| . u“ xiu o ‘ |:.:|‘ ‘ - _g : M ou : ‘ @E‘E - =5
e : : . . . . = o - : - | . L
25 XH 63,523,207 74,186,823 210,663,616
= 39,455,000
= 24,068,207
OLESE D8 A (SIS E MU /THLHETH - 2IEEe]) 55,866,773 67,492,713 211,625,940
= 39,455,000
T 16,411,773
S s 214,573 255,713 A41,140
= 15,000
= 199,573
LB SSHA &HE 25,900 30,000 24,100
201 29| 12,900 12,000 900
01 At 22/ H| 12,900 12,000 900
O MEsl AH3lH| 3,000
OMLUHHR 22 3o 2,900
OXNAMML SRS NEE S 7,000
202 044l 11,200 16,000 24,800
01 =W A b 11,200 16,000 24,800
OMLET SHAR =X 9,100
OXlgerdE L XI& MY =X 2,100
301 Bt at3ad 1,800 2,000 A200
09 &AM HIZ A2 1,800 2,000 A200
OXNSUTHHAHE S| A L NKEHN 1,800
HHBE X Aelsl=sX|d(=1) 30,000 25,000 5,000
= 15,000
T 15,000
201 LBt 2,000 3,000 21,000
= 1,000
& 1,000
01 At 22/l 2,000 3,000 21,000
OMtAEIZ =X g2 NE 2,000
= 1,000
< 1,000
202 Ol 2,000 3,000 A1,000
= 1,000
< 1,000
01 Sl 2,000 3,000 21,000
OMHZEL Aels 2R g8 =2 2,000
= 1,000
& 1,000
307 2I2t0l & 26,000 19,000 7,000
= 13,000
& 13,000
02 BIZHEAAMNHER 26,000 19,000 7,000
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OLF B YTHIIE PE(ZBEAN
SRR olzk2tst
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S - F -rl(illﬂl) HI”A%%! -HyS Ol &k ot S5 HIREZ
IS FrEEELER S B 26,000
= 13,000
== 13,000
E40lEE Ot XNA(2IHEEXEH) 158,673 200,713 242,040
308 XtXIE XM SO0l & 158,673 200,713 A42,040
01 HXSHHBAEES 158,673 200,713 A42,040
OZ+H=EE I K& 158,673
MolAHE OBl =& 28 55,652,200 67,237,000 211,584,800
= 39,440,000
== 16,212,200
Glesalol THoHtH= =& 41,200 46,000 24,800
201 LBt 30,000 30,000 0
01 A2 2t2lH] 30,000 30,000 0
OMHE IO 2133 2 30,000
202 OiHl 11,200 16,000 24,800
01 =LHOdHI 11,200 16,000 24,800
OMHIHEAMN X THHER FH 5,600
OMETHHSE L HESIS EHEA 3,500
oM N HA 2,100
oA NS ZH(ANATHRE AR ) (=21D) 22,200,000 26,978,000 24,778,000
= 18,500,000
= 3,700,000
403 XXM SAE201E 22,200,000 26,978,000 24,778,000
= 18,500,000
= 3,700,000
01 X SHHMA2E =R 22,200,000 26,978,000 24,778,000
OXHMalfIE HLX7 =yl 22,200,000
= 18,500,000
< 3,700,000
THHREXHEH (SZEAMX SUAEXL)N(=EE)( 20,711,000 28,702,000 27,991,000
=)
= 10,356,000
== 10,355,000
401 A& I 20| 20,711,000 28,702,000 27,991,000
= 10,356,000
== 10,355,000
01 Al&Hl 20,665,000 28,636,000 27,971,000
O=Z AN SUEXNS FH| 20,665,000
= 10,333,000
< 10,332,000
03 Al 2 0HHI 46,000 66,000 220,000
OSZ AN SUABXSE HHI 46,000
= 23,000
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SN S
T OhEE WY AH(BBENLGE/ LT - L)
Sl THOHAIROHHI S 23t
SN - EH - S(EH) - MRAY - BYS olaros
WA X LU (SZAX SUABKS)(22) 12,004,000 10,719,000 1,285,000
2 10,004,000
= 2,000,000
403 XX &M S XHZOI | 12,004,000 10,719,000 1,285,000
= 10,004,000
= 2,000,000
01 RXISHAE 2T 12,004,000 10,719,000 1,285,000
OSIAX BUAXY I 12,004,000
2 10,004,000
= 2,000,000
oA E X S (MAAHE H4X)(22) 696,000 792,000 £96,000
2 580,000
= 116,000
403 RXISHH S K20 ® 696,000 792,000 £96,000
=2 580,000
= 116,000
01 RXISH A2 696,000 792,000 £96,000
OMHAE H4X Fl 696,000
2 580,000
= 116,000
HHESS AU (YD) (OIEHIIEH 40,434 3,110 4,324
o=l 40,434 3,110 4,324
SN2 Jl=AY) 40,434 36,110 4,324
201 Lt | 26,034 22,310 3,724
01 AR 22t 26,034 22,310 3,724
ORN2Y AR 26,034
202 01t 10,800 9,600 1,200
01 2LH0iHI 10,800 9,600 1,200
ORNEY ILH0iHI 10,800
203 @ R ETH| 3,600 4,200 £600
EVEETEESIN 3,600 4,200 £600
©202! 013t 300,000+ 128 3,600
HeSS (L) (BSTEHLE /LT - 2Is)) 7,616,000 6,658,000 958,000
SESEE 7,616,000 6,658,000 958,000
THoH CHHI 23 (R 22101 2) 7,120,000 6,150,000 970,000
(RN 7,120,000 6,150,000 970,000
01J128E2 7,120,000 6,150,000 970,000
e EIBIE 7,120,000
HEAHSIB X2 FHI(NHIHLIID) 496,000 508,000 A12,000
705 O+ 2RI 2 A 496,000 508,000 £12,000
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S STHDH
o YRES(LW)(STEAHLE /YT - 21%s)

2 WRAANE

a

SA - ZE - B(S) - NEAY - BaS g o BHE
TT BA - cxeHEIIZH+2a2 A — 400,000 400,000
©'093 THolIE X2 =i 400,000
04 Al - SN 20) & 20| KHAL & 9,000 108,000
0'09= WHIBXD =) 96,000
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